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V = {v1, …, v n p

}

Crisp labels for V 
(Crisp 1-np designs)

Soft labels for V 
(Soft 1-np designs)  

Crisp label for x 

1-nn  
Edited 1-nn  
Nearest mean  
LVQ  
c-means + crisp relabeling  

v ’s are softly labeled  
in one class  

e.g., [0, 0.6, 0]

v ’s are softly labeled in  
several classes 

e.g., [0.2, 0.1, 0.8]

Parzen 
Sparse RBF 
Fuzzy IF-THEN

RBF 
Clustering +  
  soft relabeling

v ’s are crisply  
labeled in one  class   

e.g.,  [1, 0, 0]

Hardening

See Figure 3 for 
an expanded view
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  X

Selection

Replacement

    Vr ⊄ X

    Vs ⊆ X
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Replacement

Presupervised Postsupervised

 Selection 
(presupervised)

Retain misclassified 
objects (Condensing)

Discard misclassified 
objects (Error-editing)

Strategy-free

Hart -  C-nn 
Dasarathy - MCS 

Random search 
GAs 
Tabu search

Wilson 
Multi-edit

LVQ 
 LVQ1,  
 DSM 
 LVQTC 

Bootstrap 
Chen 

 Modified Chen

Clustering +    
Relabeling  

 HCM  
 FCM 
 PCM 
 VQ-SOM

Prototype Generator 

    
V = {v1, …, v n p

}

    Vs     Vr
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